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MA 150 Quadratics Quiz Review

Name

#1 and 2: |dentify the following features and graph. Show all work supporting your answers.

1. y=x"+8x+12

Axis of Symmetry:
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#3 Convert to vertex form:

a. y=x —8x+15 b. y=4x°+ 16x~3
Y= V=
~ 4. Abuilder is-creating two side-by-side ;jaddock§ ahﬂ hés; 12@@&%&*{ ot o T C
fencing. Given the diagram to the right, the combined area of the two . : L "
paddocks is A = -1.5w* + 600w ' co
W
What value of w will maximize the area?
W=
What is this maximum area? A é

Area =

5. A quadratic equation goes through the points (2, 9}, (4, -13) and (-6, -63). What is the guadratic
equation?




_Mode! Rocket Problem

Ed Y
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«grid Is superimposed on a diagram showing the _ _ ol N N
motion of a mode! rocket after it has been shot off W . 3
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from a dock on the shore of a lake.
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Let x = the number of seconds since the rocket has taken off
Let y = the height of the rocket

The equation that describes the motion of the subimaithe’y =125 + 4x + 12

a. Find‘the initial height of the rocket

&

The rocket will eventually reach its maximurn height. When will it reach this highest point?

¢. Whatis the maximum height the rocket will climb to?

¢d. Find the_ time when the rocket will hit the water.

AR
e. Using what you found in a — d, plot the motion of the 3
rocket including x-intercept, y-intercept, and vertex. a2
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MA 150 Quadratics Quiz Review

Name \«&“\

#1 and 2: Identify the following features and graph. Show all work supporting your answers,
1. y=x>+8x+12

Vertex Form:

w . XQJV%X +—\LQ e :_Lkﬁ W SR
Vertex:\) - ()@rLDl_.. I_!_ (—L\‘_lD i .

x-int{s): O = (X—\- @)(Xf@) X: "‘2 [""'(0
y-int: '\9\ ‘

Axis of Symmetry: A= ™ L"\“

2. y=x"+4x
Vertex Form:
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Vertex: (7(‘ * "2‘)1 ~H
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weintls: - O (% + ) O H
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Axis of Symmetry: 1




#3 Convert to vertex form:

a. y=x"-8x+15 b. y=4x*+ 16x -3

W+l HiS e (% i 1) -3+ 1

" (x—ﬁ—“\ - H(x‘wﬁfww‘iq

4. A builder is creating two side-by-side paddocks and has 1200 feet of
fencing. Given the diagram to the right, the combined area of the two
paddocks is A = -1.5w” + 600w

L — i

What value of w will maximize the area?

. aoD

What is this maximum area?

8 (200} + (00 (200

Area= (A 2}( QOO

5. A quadratic equation goes through the points (2, 9}, {4,-13) and (-6, -63). What is the quadratic
equation? '
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Maodel Rocket Problem
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from a dock on the shore of a lake. LA et o et

et x = the number of seconds since the rocket has taken off
Let y = the height of the rocket

The equation that describes the motion of the submarine y = S125%% 4 Ay + 12

a. Find.the initial height of the rocket . '
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b. The rocket will eventually reach its maximum height. When will it reach this hlghest point?
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c. Whatis thé maximum height the rocket will climb to? ' L_\ U‘
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d. Find the time when the rocket will hrt'the water.
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e. Using what youtoundin a ~—d, piotthe motion of the
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rocket including x- intercept, y-intercept, and vertex.
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